9570RC Bi-Fold Sliding Door Hardware Set
Installation Instructions
I-SD00472

The 9570RC is for 1-1/8" to 1-3/4" thick panels. Hardware is rated up 125Ibs per panel pair. 36" is for 2-
Panel Assembly. 48”, 60", 72" and 96" are for 4-Panel Assembly.

Contents: 2-Pnl | 4-Pnl
Qty: | Qty:
Track (9303HD)
1. Bi-Fold, By-Pass and Pocket Door Box Track 1 1
2. #8x1-1/4" PPHW Track Screw * *
Bi-Fold Pivot Set (1-159-0010)
Top Pivot Assembly 1 2
4. Bottom Pivot Assembly 1 2
3.5" x 3.5" Hinge (1741)
5. 3.5”x 3.5" Hinge (1741) 3 6
6. #9 x 34" FPHW Hinge Screw 18 36
Bi-Fold Accessories Parts Bag (1-159-0011)
7. Wooden Knob 1 2
#8 x 1-3/4" TPH Knob Screw 2
#8 x 2" TPH Knob Screw 1 2
10. Bi-Fold Aligner 1 2
11. #8 x 5/8"” PPHW Aligner Screw 2 4
12. Bi-Fold Center Stop Bumper 1 2
4-wheel Hanger Parts Bag
13. 4-wheel Roller 1 2
14. Hanger Plate 1
15. M5.5 x 32mm PPHW Hanger Plate Screw 2 4

*Number of Panels and Track Screws are dependent on the Actual Track Length:

Actual Track Length Number of Panels Number of Track Screws
36" 2 4
48" 4 6
60" 4 6
72" 4 6
96" 4 8
Rev 1, Rev Date: 02/27/23 Always visit www.hagerco.com for the latest Installation Instructions Page 1 of 6

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 « (800) 325-9995




9570RC Bi-Fold Sliding Door Hardware Set
H AGERQ Installation Instructions
I-SD00472

COMPAMNIES

1 Prepare the Finished Opening

PANEL HEIGHT = FINISHED OPENING HEIGHT - 2-7/8" + 1/4”

—
~N

'
=

1-7/8 [47.6]
to 2-3/8" [60.3]

;
i
|
B
AT

FINISHED OPENING WIDTH
2 X ACTUAL PANEL WIDTH + C

FINISHED
S~ R OPENING
ACTUAL b T HEIGHT

|n

5.

16 - i - /,"x_\_/-‘ -
(7.9]
. ol 1-3/8" [34.9]
or 1-3/4" [44.5]

o] - R N

[
A‘ Lu i" i 5/8" ';15 9]
L 6 6 - /é SR
[1 .6} [1 .6] FINISHED FLOOR f

Figure 2: Finished Opening

ﬁ
PN
o H

T

Height
FINISHED OPENING WIDTH
4 X ACTUAL PANEL WIDTH + C
Figure 1: 2-Panel and 4-Panel Finished Opening Width
Finished Opening Width "C” Values
2-Panel 4-Panel
1-3/8" Thick Panels 1-3/4" Thick Panels 1-3/8" Thick Panels or 1-3/4" Thick Panels
or Less Less
No Trim 3/8” 1/2"” 5/8" 1"
With 3/4” Trim 3/4” 7/8" 11/4"” 1-3/8"
Rev 1, Rev Date: 02/27/23 Always visit www.hagerco.com for the latest Installation Instructions Page 2 of 6

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 « (800) 325-9995



9570RC Bi-Fold Sliding Door Hardware Set
lHAGERe Installation Instructions
I-SD00472

COMPAMNIES

2 Prepare the Top and Bottom Pivot Assembly

Bi-Fold Pivot Set (1-159-0010) Contents: 2-Pnl | 4-Pnl
Qty: | Qty:

1. Top Pivot Track Bracket - Top 1 2

2. Top Pivot Track Bracket - Bottom 2 1

3. Top Pivot Door Mounting Plate 1 2 :

4. 1/4"-20 x 1/2" Top Pivot Track Bracket Bolt 1 2

5. 1/4” Internal-External Lock Washer 1 2 Z

6. #8 x 1" PPHW Pivot Mounting Screw 12 24

7. Bottom Pivot Floor Mounting Plate 1 2 :

8. Bottom Pivot Door Mounting Plate 1 2

9. 5/16"-18 x 1-9/16" Bottom Pivot Adjusting 1 2
Bolt

3 Install the Track and Hardware

e Track length should be 1/8" less than the finished
opening width

e Place the Top Pivot Track Bracket - Top and 4-
Wheel Roller loose in the track with the pivot IR ~—Bi-Fold, By-Pass and Packet Door Box Track
bracket on the pivot side lﬁh Top Pivot Track Bracket - Bottom

b Center the track in the Opening _'"""'—1,"4" Internal-External Lock Washer
Secure the track with #8 x 1-1/4” PPHW screws & 1/4"-20 x 1/2" Top Pivot Track Bracket Bolt

Install the Top Pivot Track Bracket - Bottom, 1/4” ™.
Internal-External Lock Washer and 1/4"-20 x 1/2" |
Top Pivot Track Bracket Bolt onto the Top Pivot T T
Track Bracket - Top #8x 1" PPHW Pivot Mounting Screw
¢ Move the Top Pivot Bracket Assembly 2-5/16" from i T _ Bottom Pivot Floor Mounting Plat
the Pivot Side Jamb and hand tighten o SRR TR TROr TG T -
e At the center of the jamb depth, 2-5/16" from the L
Pivot Side Jamb, secure the Bottom Pivot Floor Figure 4
Mounting Plate on the floor with 4ea #8 x 1" PPHW
Screws

Pivot Side Jamb Guide Side Jamb—"/

Rev 1, Rev Date: 02/27/23 Always visit www.hagerco.com for the latest Installation Instructions Page 3 of 6
HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 « (800) 325-9995



9570RC Bi-Fold Sliding Door Hardware Set
H AGERQ Installation Instructions
I-SD00472

COMPAMNIES

4 prepare the Panels

e Drill a 1-3/4" deep 3/8" diameter hole 2” from the pivot side panel edge, at the center of the top and bottom
panel edge thickness

e Insert the Bottom Pivot Door Mounting Plate’s protruding cylinder in the bottom hole created in the previous
step

e Position the Top Pivot Door Mounting Plate 2” from the pivot side panel edge, at the center of the top panel
edge thickness

e Secure both the Top and Bottom Pivot Door Mounting Plates with #8 x 1” PPHW Screws

e Position the Hanger Plate 2" from the guide side panel edge, at the center of the top panel edge thickness

e Secure the Hanger Plate with M5.5 x 32mm PPHW Screws

e Mortise the 3.5” x 3.5” Hinges to the panels
Note: Ensure that the hinge barrels are on the back side of the door

e Secure the hinges with #9 x 34" FPHW Screws

6.00
[152.4)
o
[50.8] Pz
Top Pivot
Hanger Plate
CENTERED
AT
6.00
g (152.4]
2 \ //}
[50.8]
Bottom Pivot v
Figure 5 Figure 6: Hinge Locations
Rev 1, Rev Date: 02/27/23 Always visit www.hagerco.com for the latest Installation Instructions Page 4 of 6

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 « (800) 325-9995



IfHAGer

5 Hang the Doors

9570RC Bi-Fold Sliding Door Hardware Set
Installation Instructions
I-SD00472

Fold the doors together and engage the Top Pivot Door Mounting Plate into the Top Pivot Bracket

Set the Bottom Pivot Adjusting Bolt into the Bottom Pivot Floor Mounting Plate

Slide the 4-Wheel Roller’s bolt into the Hanger Plate and close the latch

Move the Top Pivot Assembly left and right until the pivot side panel edge is parallel to the Pivot Side Jamb

Tighten the Top Pivot Track Bracket Bolt

Adjust the Bottom Pivot Adjusting Bolt and 4-Wheel Roller’s bolt until the bottom door edge is 3/4” from the

finished floor

e

Fﬁ_’\

\Top Pivot Assembly

4-wheel Hanger Assemblyj

Rev 1, Rev Date: 02/27/23

Figure 7

Always visit www.hagerco.com for the latest Installation Instructions

Page 5 of 6

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 « (800) 325-9995



9570RC Bi-Fold Sliding Door Hardware Set
H AGERQ Installation Instructions
COMPAMNIES I-SD00472

6 Install the Wooden Knob and Bi-Fold Aligner

e Install the wooden knob at the vertical centerline of the guide side door as seen on Figure 8
Note: Use #8 x 1-3/4" TPH Knob Screw for 1-3/8" Thick Panels
Use #8 x 2" TPH Knob Screw for 1-3/4” Thick Panels
Cut the #8 x 1-3/4" TPH Knob Screw to the appropriate length for 1-1/8" to 1-3/8" Thick Panels
e For 4-Panel Doors, install the Bi-Fold Aligner as seen on Figure 9

O i -
i . t e x
v N
36" l ) 3531"8]
9144 [ el ) =
\\ [3(1)31I:8] ,/
JE — = DETAIL B
o ] SEE - ¥ SCALE1:5
Figure 8: Wooden Knob Location Figure 9: 4-Panel Bi-Fold Aligner Location
7 Attach the Bi-Fold Center Stop Bumper
e Attach the Bi-Fold Center Stop Bumper as seen i iEl__smig_wmes_1&
- e 7]
on Figure 10 L
Bi-Fold Center
°H° Stop Bumper
J= L
Figure 10
Rev 1, Rev Date: 02/27/23 Always visit www.hagerco.com for the latest Installation Instructions Page 6 of 6

HAGER COMPANIES 139 Victor Street, St. Louis, MO 63104 « (800) 325-9995



